Teopema, obpaTHas
TeopemMe Buerta

Ecnun yncna

X1 N X2 TAKOBBbI,

YTO Xat+Xo=—p U X1 X2=(Qq,

TO X1 U X2 ABMISAKOTCS KOPHSAMMU
npuBeaeHHOro KBaapaTHOro
ypaBHEHUS x*+p - x+g=0.

e



x°+5 - X - 24=0.

p=5q9=-24
X1+X2=-5
X1 X2=-24




X>+5-x-24=0. pP=5,9=-24

X1+X2= -5 X1-X2=-24

1-24

2 -12 3HAUUT
3-8 X,=~8;
4 -6 X,=3

OTBeT: —8;

2



x°+14 - x + 24=0.

p=-14;q=24
X1+X2=-14
X1 X2=24




x’+14-x +24=0. pP=5,q9=-24
X1+X2=-14 X1 -Xx2=24

-1-24
-2-12 3HAYUT
-3-8 X,=—12;
-4-6 X,=-2
OTBeT: —12;

=)



x2-11 - x + 24=0.

p=11;,9g=24
Xi1+x2=11
X1 X2=24




X*-11-x+24=0. P=5,q=-24
X1+X2=11 X1 -x2=24

1 24
2 12 3HA4YUT

3 8 X,=3 ; X =8
4 6
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